
 

Klapptest zum Thema: Zinsrechnung                    

 

Name: 
 

K = Kapital, Z = anfallende Zinsen und p(%) = Zinssatz,  

 

Z = K ∙ 
𝒑%

100
  

 

Beispiel: Gegeben: K= 7000€, p= 7%  

          Gesucht: Z 

 

1. Werte in Formal einsetzen          Z = 7000 ∙ 
𝟕

100
  

 

2. Ausrechnen                           Z = 490 
 

 

 

 

Aufgaben: 

 
1. K= 1000€, p= 5%, Z= ? 

 

 

2. K= 25000€, p= 10%, Z= ? 

 

 

3. K= 500€, p= 2,5%, Z= ? 

 

 

4. K= 1800€, p= 4%, Z= ? 

 

 

5. K= 3200€, p= 7,5%, Z= ? 

 

 

6. K= 1235€, p= 3,2%, Z= ? 
 

 

 

 

 

 

 

 

 

Lösungen: 
 

50€ 

 

 

2500€ 

 

 

12,5€ 

 

 

72€ 

 

 

240€ 

 

 

39,52€ 
 



 


